## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving Amendment 1 to the Natural Resources Department-Tribal Herd FY2010 Budget 01-1505 appropriating funds from the Southern Arizona Water Rights Settlement Act Trust Fund in the amount of \$383,560.00 for a total Budget of \$520,934.83)

RESOLUTION NO. 10-172

1	WHEREAS,	the Tribal Herd Program has been in existence since 1941 for the purpose of an
2		experimental herd/range management for cattle rotation, as a source of generating
3		revenue for the Tohono O'odham Nation; and
4	WHEREAS,	the present well was drilled in 1943 and with the advisement of the Water Resources
5		Department a new well needs to be drilled; and
6	WHEREAS,	with the drilling of a new well it would not only benefit the Tribal Herd Program, but
7		also the Healthy O'odham Promotional Program and aid in future development in the
8		area; and
9	WHEREAS,	the Tohono O'odham Legislative Council approved the Natural Resources
10		Department-Tribal Herd FY10 budget 01-1505 by Resolution 09-268 in the amount of
11		\$137,374.83; and
12	WHEREAS,	the  Natural  Resources  Department-Tribal  Herd  is  requesting  the  approval  by  Budget  approval  approval  by  Budget  approval  approval
13		Amendment No. 1 to account number 01-1505 to appropriate funds from the
14		Southern Arizona Water Rights Settlement Act Trust Fund, in the amount of
15		\$383,560.00 for a total revised budget of \$520,934.83; and
16	WHEREAS,	the Natural Resources Department-Tribal Herd is requesting that the additional
17		funding be used to drill a 900 foot well, to construct/implement a 3.5 mile water line
18		distribution system for the purpose of watering the Nation's herd and to purchase
19		capital equipment, two work trucks; and
20	WHEREAS,	the  allocated  Southern  Arizona  Water  Rights  Settlement  Act  Trust  funds  is  a  one-time  and  a  constant  a  con
21		allocation and funds not utilized during FY2010 be carried over into Fiscal Year 2011
22		to complete the vital projects; and
23	WHEREAS,	budget amendment no. 1 to the FY 2010 account 01-1505 has been reviewed and
24		${\bf recommendapprovalbytheLegislativeAgriculturalCommittee,BudgetandFinance}$
25		Committee, and reviewed by the Water Resources Committee.
26	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby approves
27		budget amendment 1 to the Natural Resources Department-Tribal Herd FY 2010
28		account 01-1505 to:
29		

	RESOLUTION NO. <u>10-172</u> (Approving Amendment 1 to the Natural Resources Department-Tribal Herd FY2010 Budget 01-1505 appropriating funds from the Southern Arizona Water Rights Settlement Act Trust Fund in the amount of \$383,560.00 for a total Budget of \$520,934.83) Page 2 of 3
1	1. Appropriate funds from the Southern Arizona Water Right Settlement Act Trust
2	Fund, in the amount of \$383,560.00, for a total revised budget of \$520,934.83.
3	2. To create 810 Professional Services to use the funds to drill a 900 ft. well and to
4	construct/implement into service a 3.5 mile water line distribution system to
5	irrigate pasture for the purpose of watering the Nation's herd and to create new
6	line item 750, capital equipment to purchase two work trucks, in accordance
7	with the budget attached hereto.
8	3. The allocated Southern Arizona Water Rights Settlement Act Trust Funds is a
9	one-time allocation and funds not utilized during FY2010 be carried over into
10	Fiscal Year 2011 to complete the vital projects.
11	BE IT FINALLY RESOLVED that the Tohono O'odham Legislative Council hereby authorizes
12	Chairperson and any designated official to expend and administer the budget, as
13	attached, provided that any amendments affecting the funds or funding levels of the
14	budget shall be submitted for further prior approval by the Tohono O'odham
15	Legislative Council.
22	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 12 <sup>TH</sup> Day of MAY, 2010 at a meeting at which a quorum was present with a vote of 1,639.0 FOR;726.40 AGAINST; 230.10[02] NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (d)(2) and (3) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
23 24	TOHONO O'ODHAM LEGISLATIVE COUNCIL
25 26	
27	Verlon M. Jose, Legislative Chairman
28	Verlon M. Jose, Legislative Chairman
29	as the May, 2010
30 31	day 61
32	
33	
34	
35	ATYEST:
36 37	(Iramella)
38	Evonne Wilson, Legislative Secretary

39

 $\frac{25}{2}$  day of  $\frac{2010}{2}$ .

	RESOLUTION NO. <u>10-172</u> (Approving Amendment 1 to the Natural Resources Department-Tribal Herd FY2010 Budget 01-1505 appropriating funds from the Southern Arizona Water Rights Settlement Act Trust Fund in the amount of \$383,560.00 for a total Budget of \$520,934.83) Page 3 of 3								
1	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the								
2	Nation on the 35 day of May, 2010 at 10-28 o'clock, a.M.,								
3	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective								
<b>4 5</b>	upon his approval or upon his failure to either approve or disapprove it within 48 hours o submittal.								
6 7	TOHONO O'ODHAM LEGISLATIVE COUNCIL								
8 9 10 11 12 13	Verlon M. Jose, Legislative Chairman								
14 15 16 17	on the <u>Q5</u> day of <u>WAY</u> , 2010  [ ] DISAPPROVED at <u>Q:4</u> Q o'clôck, P.M.								
18 19 20 21 22 23 24 25 26	ned norris, jr., chairman tohono o'odham nation								
27 28	Returned to the Legislative Secretary on the $25$ day of								
29 30 31 32 33	May, 2010, at 3:37 o'clock, p.M.								
33 34	Evonne Wilson, Legislative Secretary								
35 36 37 38 39 40 41 42 43 44 45 46 47 48	A A STATE OF THE PROPERTY OF T								
49 50									

ACTION: APPROVING AMENDMENT 1 TO THE NATURAL RESOURCES DEPARTMENT-TRIBAL HERD FY2010 BUDGET

01-1505 APPROPRIATING FUNDS FROM THE SOUTHERN ARIZONA WATER RIGHTS SETTLEMENT ACT

TRUST FUND IN THE AMOUNT OF \$383,560.00 FOR A TOTAL BUDGET OF \$520,934.83

MOVED: COUNCILMAN EDWARD MANUEL

SECOND: COUNCILWOMAN FRANCES CONDE

DATE:

MAY 12, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose) 2. MARY LOPEZ	99.35		х		x
	2. MART LOFEZ ( )	99.35		X		
SELLS	1. KIMBERLY LISTO	224.80	X			
449.6	2. EVELYN B. JUAN MANUEL	224.80	X			
SCHUK TOAK	1. FRANCES B. CONDE	79.50	X			
159.0	(Fredrick Jose) 2. LINDA PARLEY (Agnes Joaquin)	79.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	102.35		x		x
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis	102.35		х		
SAN LUCY	1. LORRAINE EILER	93.55	X			
187.1	2. GLORIA RAMIREZ	93.55	X			
PISINEMO	1. CHESTER ANTONE	92.25		х		
184.5	(Tony Murrietta) 2. EDWARD MANUEL (Gerald Fayuant)	92.25		x		
HICKIWAN	1. MICHELLE ORTEGA	87.25	X			
174.5	2. SANDRA ORTEGA	87.25	X			
GU VO	1. GRACE MANUEL	103.15	X			
206.3	2. PAMELA ANGHILL (Absent) (Angela Ortiz) (Present)	103.15	х			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05			x	
230.1	2. CYNTHIA E. MANUEL	115.05			x	x
CHUKUT KUK	1. ETHEL GARCIA	138.50	X			
277.0	(Sara Mae Williams) 2. VERLON M. JOSE ( )	138.50		x		
BABOQUIVARI	1. FRANCES MIGUEL	162.0	X			
324.0	(Roberta Harvey) 2. FRANCES G. ANTONE (Vernon Smith)	162.0	X			
	TOTAL	2,595.50	1,639.0	726.40	230.10 [02]	[03]